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lll Semester B.Sc.3 Degree Examination, November/December 2016
CHEMISTRY (Optional)
(Fresh and Repeaters New Syllabus)

Time : 3 Hours Max. Marks : 80

Instructions: 1) Allquestions arecompulsory.
DR, GITSO FFIAVTINT,
2) Answer all the questions in the same answerbook.
DR NI 2083¢ VT TIFOVY, LT,
3) Drawneatdiagrams and give equations whenever necessary.
&3 D) S0EIDT 283G TR BIILO TOADOLVE ADICEOEINTL TREO.

SECTION-A
RPN — R
1. Answerany ten of the following : : (10x2=20)
TENSRINTE_e5o0 =3, QVZORD:
a) What are Ellingham diagrams ?
YomRI” Tesnaedgneondesd ? ’
b) What are non-aqueous solvents ? Give one example.
Qe QoD TRBNFOTTER) ? 20T YVTINHTES BRRBO.
c) State Lewis theory of acids and bases.
G, W0BY T, ST HODOOITY 39,853, D0.
d) Give two advantages of powder metallurgy.
BRF SREBIAL DTE) YBTRVSNYS, WHCND.
e) What are deactivating groups ? Give an example.
%%fwaédra NOOYNBOTTER 7 LVTHO TREO.

P.T.O.
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f) Give the composition and uses of cordite.

1 BT E3° R ROC3RERS WIBY YVTERNTSNTT), WICW0.

g) How is the presence of aldehyde group detected using its IR spectrum ?
SIBE MRT°S ACHVFODR) TEeF S62 BRe&BE 0RO TETT MITOSIRITITD ?

h) What are organolithium compounds ? Give the formula of lithium dimethyl

cuprate.
SHPREIENSlalevele Aocdgndondesd ? Qoo T e s,r%v,;—;w Shovators
2980200. '

i) Define molal depression constant of a solvent.
20T TRTITE WRERY® BRI %@oﬁdﬁi TR

j) What is a cyclic process ?

238,003 TS DOTTERO ?
k) Calculate the efficiency of Carnot’s engine working between the temperatures

0° C and 90° C.
0° C 353390° C 3oBRBRIT 305, 59030F Va3 &R Tomof &3° GUTOI0ZTH
maﬁodér:ﬂdi Cﬁ%ﬁw@.

|) State Raoult’s law.
TOOR RODBOTR 539,859,

SECTION-B
NFIN— W
Answer any four of the follbwing : | .(4x5=20)

FINSING_ wesors mcﬁmg@m:

2. Give the salient features of Ellingham diagram.
SOOI TeamUWFNY MOLIVT £ SPA0.

3. Explain Bronsted Lowry Theory of acids and bases with examples and mention
its demerits.

533, T2 FEIE L, 75° o), HODHOODRY SOTOBTEROIR 0D D=OXD TIMR 3530
SRTSCNR SPR0.
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4. Explain the orientation effect of — Cl in chlorobenzene using electronic
interpretation.

BRsGReS00E SYTEE — Cl mboss ©epian TOFER) DR 5 LRRODY VTOAD.

5. Explain Fries rearrangement with mechanism.
=2 —5 = ). Frasd o)
og{ﬁ‘ DT® a‘DF.DZS#d éweota)ﬁdi&db%&

6. Derive Gibbs Helmoltz equation.
NeT | BERET, ADOEFTERIR RGO,

7. Define “free energy” and derive the expression for the free energy change with
temperature and pressure.

YR T TR, RN, YVRHE TN LERE WRTIWBNTO B0g F3odh 0e 2edds
LBV BREFTEINTR JFWGR0.
0 V&

SECTION-C
QIR — 2

Answer any four of the following : (4x10=40)
NSNS dess EISEA SUBORD:

8. a) Explain the extraction of aluminium from bauxite.
23T, £37 Q0T BURDINOI0 YVTITFSOTOTY DTOR.
b) What are the types of solvents ? Give examples and explain the properties of
good solvents.
T80 GNED 09 ? YUTRHOAD TN GUZERD TRF6E r’osacisaﬁeﬁa’g_( WO,
(5+5)

9. a) Explain the mechanism of Pinacol-Pinacolone rearrangement.
LTIBR LT - LTIBRERT PTT® DR §om:9’o§§a’>i DWOXD.
b) What is Grignard reagent ? Using methyl magnesium iodide, how do you
prepare (i) 2-propanol (i) Ethanoic acid ?
NITIEF TETITT DOWTE ? 0TS FONEKON0 B03RCT TR LT3 RN
(i) 2-Tp T TN (i) VTFTCWT” SRAMTDI FoIPORES Wit Tert ? (5+5)
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10. a) Explain Beckmann's method (freezing point depression method) of
determination of molecular weight of non-volatile non-electrolyte solute.

WD APIVOOT TV -ITER LT WHT BT, FOWILRBEIN
samméi DWOD. :
b) The boiling point of benzene is 353.23 K. When 1.80 g of a non-volatile solute

was dissolved in 90 g of benzene, the boiling point is raised to 354.11 K.
Calculate the molar mass of the solute. (K, for benzene is 2.53 K kg mol—1).
230030¢" S BRI W0t30353.23 K. 90 190 eIt e =, 1.80 933 soNRITmN
030 8000 Wot3d 354. 11K DDF037R03Y . ToFT RBRCRT” B 080308
S320. (2300pe*S K|, 0d22.53 K kg mol™). (5+5)
11. a) Explain the extraction of Nickel by Mond’s process.
TROTS LFIBROT VTS LVTTEIT WO,
b) Describe Carnot’s cycle and state Carnot’s theorem.
TOROF T RTOT W 3SFR TINR TITF 63° HOTTIRY 39, 879,R (5+5)
12. a) Derive integrated form of Clapeyron-Clausius equation.
AcEOE CRTT TR0 ~TRI0DF :iraajaizﬁg{ EST3eSA0.
b) Give the synthesis of n-hexylresorcinol and picric acid and give their uses.
N-TF0S* CRREIF TO* TR Y4BT a3, TRING SCIROF Tore YUBEIRENNTR,
392 (5+5)




